



StudentName: _____

ExamDate: _____ ExamScore: _____

$$(4 - \frac{1}{6})^2 + \frac{3}{2} \times \frac{1}{3} \times 3^2 =$$

$$((\frac{1}{2})^2 - \frac{2}{5}) \times \frac{1}{2} - (\frac{2}{5} - \frac{1}{2})^2 =$$

$$(3 - \frac{1}{5})^2 + \frac{1}{2} + \frac{3}{2} + 2^2 =$$

$$(\frac{1}{2} + \frac{1}{4})^2 - \frac{3}{2}(\frac{1}{4} - \frac{1}{2}) =$$

$$(2 + \frac{1}{3})^2 + \frac{1}{3} \times \frac{1}{2} \times 2^2 =$$

$$(\frac{1}{2} - \frac{3}{5})^2 + \frac{1}{2}(\frac{1}{6} + \frac{1}{2}) =$$

$$(5 + \frac{2}{5})^2 - \frac{2}{3} - 5^2 + \frac{1}{5} =$$

$$(\frac{3}{2} + (\frac{2}{5})^2) \times \frac{1}{4} - (\frac{3}{5} + \frac{2}{5})^2 =$$

$$(2 - \frac{1}{6})^2 + \frac{1}{3} \times 3^2 - \frac{3}{5} =$$

$$((\frac{1}{2})^2 + \frac{1}{2}) \times \frac{1}{2} - (\frac{1}{2} - \frac{1}{2})^2 =$$



StudentName: _____

ExamDate: _____ ExamScore: _____

$$(4 - \frac{1}{6})^2 + \frac{3}{2} \times \frac{1}{3} \times 3^2 = \frac{691}{36} = 19\frac{7}{36}$$

$$((\frac{1}{2})^2 - \frac{2}{5}) \times \frac{1}{2} - (\frac{2}{5} - \frac{1}{2})^2 = (-\frac{17}{200})$$

$$(3 - \frac{1}{5})^2 + \frac{1}{2} + \frac{3}{2} + 2^2 = \frac{346}{25} = 13\frac{21}{25}$$

$$(\frac{1}{2} + \frac{1}{4})^2 - \frac{3}{2}(\frac{1}{4} - \frac{1}{2}) = \frac{15}{16}$$

$$(2 + \frac{1}{3})^2 + \frac{1}{3} \times \frac{1}{2} \times 2^2 = \frac{55}{9} = 6\frac{1}{9}$$

$$(\frac{1}{2} - \frac{3}{5})^2 + \frac{1}{2}(\frac{1}{6} + \frac{1}{2}) = \frac{103}{300}$$

$$(5 + \frac{2}{5})^2 - \frac{2}{3} - 5^2 + \frac{1}{5} = \frac{277}{75} = 3\frac{52}{75}$$

$$(\frac{3}{2} + (\frac{2}{5})^2) \times \frac{1}{4} - (\frac{3}{5} + \frac{2}{5})^2 = (-\frac{117}{200})$$

$$(2 - \frac{1}{6})^2 + \frac{1}{3} \times 3^2 - \frac{3}{5} = \frac{1037}{180} = 5\frac{137}{180}$$

$$((\frac{1}{2})^2 + \frac{1}{2}) \times \frac{1}{2} - (\frac{1}{2} - \frac{1}{2})^2 = \frac{3}{8}$$